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Which one of the following choices is not an example of periodic motion?
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P green JETRA diagram represents overlapping areas of light of the
same intensity.

M. Nl Which of the following indicates the colors that appear in

‘ areas (A, B, C)?
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What is the point where incident light rays that are parallel to the principal axis converge
after reflecting from the mirror?

Pole of mirror (P) (P) ol pd) lad

Centre of curvature () (C) 145 )5 pa

Optical center (0) (0) gradt S50
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A visual defect occurs when the eyeball is too long or the cornea
(the front cover) of the eye has too much curvature. Therefore, the
light that enters the eye is not focused correctly.

Which of the following is the visual defect?

farsightedness Al Jek
Chromatic aberration W @
Spherical aberration S9N f

nearsightedness Al pad
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- A (36 cd)point source of light is (2.0 m) above the surface of a desk.
- What is the illuminance on the desk’s surface?

9.0 Ix

3.2Ix

2.3 Ix

17 Ix



Have same speed in the four mediums
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Diamond

Float Glass

Jidl 2y

Ethanol
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Indices of Refraction for Yellow Light § 1iS1 a1 5 9l 4y 3955 oy 5040 b 1 2 » Aliee dobaeg
Medium n - - -
Ethanol Jaalai 1.36 The table shows the indices of refraction for yellow light
Float Glass Jsiall zi ! 1.52 (2 = 589nm) in three different mediums.
Diamond il 2.42 In which of these mediums the yellow light has the
greatest speed?
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A lit candle is placed in front of a convex lens at a
distance greater than twice its focal length, as shown in
near diagram. A sharp image is formed on a screen
placed at the opposite side of the lens. Which of the
following is the correct image on the screen as seen by
an observer?
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The figure shows a ray of light (PO) passing from water into

air. Given the reflective indices of water and air
(nwater = 1.325 ,n,, = 1),
which is the correct path of the ray?

POT

POU

POV

POW
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A hydrogen atom in a galaxy moving with a speed of 7. 55 x 10° m.s™!
away from Earth emits light with a frequency of 6. 16 x 10"'Hz,
The speed of light in vacuum is (3.00 x 109 m.s ™).
What frequency of light from that hydrogen atom would be observed by
an astronomer on Earth? |

6.314 x 101*Hz

6.314 x 101°Hz
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Luminous flux Agall 3
Illuminance P
Luminous intensity - N

glare of light PAETY)




45.54°

75.54°

53.13°

e
Unpolarized Light
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The figure shows a light ray passing through two
polarizing filters. The intensity of observed light

is 36.0% of the intensity coming out the first filter.
Whatis the angle between the polarizing axes of the
two filters?
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P Two wave pulses on the same string are headed
towards one another as shown. When both occupy the
S— same space, which diagram best describes the
resulting wave form?
P
L
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A card, with numbers written on it, was placed so that its
surface is perpendicular to the surface of a plane mirror as
shown in the figure.

Which of the following diagrams shows the image of the card
in the mirror?

5183

3815

€815

cdle
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shown in the figure?

What is the optical instrument inside the green box

Glass Prizm | ) sedia

Concave mirror ; 3 yade 5 g4

Concave lens 3 ad0 dwds
|

Convex lens Ak duds
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The diagram represents sound pulses traveling
‘throw air. The red point represents an air
'molecule. Which of the following diagrams
represents the motion of the red pointas the
pulses pass through air?
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The diagram shows a converging lens forming an image of an object.
What is the focal length of the lens?

A e
Converging Lons

50cm

3/
&
I

90 cm

40 cm

72 cm
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Hasan observes an ant with the help of a magnifying lens of focal
length 20 cm. The magnifying lens is held near his eyes. If the image of
the ant is upright and virtual at a distance of 24 ¢m from the lens.
what is the distance of the ant from the magnifying lens?
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2Z0cm

120 em

44 cm
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light ray travelling from air into a plastic block at an angle of
(60°), shown in figure, calculate angle of refraction (r).
The refractive index of plastic is (1.49) , and for air, (n,;, = 1)

r = 35.54°
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If a magnitude of frequency of simple pendulum on Earth surface

was(0.263 Hz)
What is the period for this pendulum at the same place on Earth

surface?

3.80s

1.80s

0.80s

7.60s
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An object is located 5. 0 cm in front of a concave make-up mirror, that
has radius of curvature of 20.0 cm. How far is the image from the
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—5cm

5cm

10cm

—10 cm
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'The figure shows a graph representing a 7.20])
-spring that extends by ( 12 cm) when a force
~of (30 N)is exerted on it.

i 'How much potential energy is stored in the

2 Swetch Distance (cm) | SPTing?
s

e e e i i

3.60]

2.16]

1.80 ]
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A (30 cm) spring is compressed to be (25 cm) when a
load of (300 g) is placed on it.

What is the load (m) that is required to compress the
spring to be (22 cm)?

300 g

120 g

80g

480 g
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Standing waves are created in four identical

. _ strings, as shown in the figure. The strings are fa>fc>fe>fp
n ( . of length (1).

i Which of the following is the correct ranking

h ‘ s : of the frequency produced in the four strings?

fa<fc<[fe<f[fp

fasfc>fe=/p

fo>Ua=fs)>fp
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Figure on the left shows a wave obtained from a wave’s
generator with frequency (f = 60 s ). , what is the
velocity(9) of this wave?

360 cm. s !

160 cm.s™?!
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Figure on the left shows a wave obtained from a wave’s

- velocity () of this wave?
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360 cm. s}

160 cm. s~ 1




